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General Instructions :

(i)
(it)
(iii)
(iv)

(v)

(vt)

All questions in both the sections are compulsory.
Marks for questions are indicated against each.

Questions No. 1 -5 and 17 -21 are very short-answer questions
carrying 1 mark each. They are required to be answered in one
sentence each. :

Questions No. 6-10 and 22-26 are short-answer questions
carrying 3 marks each. Answers to them should normally not exceed
60 words each.

Questions No. 11 - 13 and 27 - 29 are also short-answer questions
carrying 4 marks each. Answers to them should normally not exceed
70 words each.

Questions No. 14-16 and 30-32 are long-answer questions
carrying 6 marks each. Answers to them should normally not exceed
100 words each.

(vii) Answers should be brief and to the point and the above word limits

should be adhered to as far as possible.
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SECTION A

gue A
1. Why does an economic problem arise ? : 1
e geRn &b IOT et 2 ?
2.  When is the demand of a commodity said to be elastic ? 1

TF q& F AT B AGGR HF F@T SO & 7

3. Define variable costs. i 1

fEdl armar & gRamr ST |

4. What causes an upward movement along a supply curve ? 1

9fd 9% W W F I T F N FROT § 2

5. Define marginal revenue. | 1

gmr gmfg & aRam dfSw |

6. Explain the problem of ‘how to produce’. 3
FY 3T HF TR FERT |

7. Explain the law of supply with the help of a supply schedule. 3
TE U SEEe & HeEdl ¥ Ufq & fw @ s #i |
8. Draw a straight line demand curve and show on it a point at Wilich
(1) price elasticity of demand > 1
(i)  price elasticity of demand < 1
(iii) price elasticify of demand = 1 _ : '. 3
TE e @ aen 6 g% difen ol 39 W Us fag feent i W
i) =T & Hma | > 1
i) HT R AT A < 1
(iii) = & FHa d= = 1
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For Blind Candidates only in lieu of Q. No. 8
FHad gEEN Tafad & o 7y 9% 8 & W U

What is meant by price elasticity of demand ? If elasticity of demand
of a commodity is less than 1, what will be the effect of a fall in its
price on total expenditure on it ? Explain.

A T AT B A R ? AR A AT A A9 1F R, A
IS FHA Ted F IW W B A FI W FT I9E TS 7 THARC |

9. Explain consumer’s equilibrium in case of a single commodity, through
the utility approach.

OR

Explain the law of diminishing marginal utility with the help of a
utility schedule.

ITAfE gfEw § geEd ¥ U A @ fefq § svds ==== wmm
HAgar

TH IWA S W WeEd  § W S 3SR w HEE # s

FIT |

10. How is the supply of a commodity affected by changes in the prices of
other commodities ? Explain.

= Tl @ oA § wRe § o owg @ T 5Y wehm A f
HHIET |

11. Explain with the help of a total product curve the meaning of

increasing returns to a factor.

TG & FUAE (Ted) WAk w7 W FA IAR TF I TeAal d gUART |

For Blind Candidates only in lieu of Q. No. 11
Fae giedy shanfaal & foe oy ¥ 11 & ©™F @

Explain the meaning of increasing returns to a factor with the help
of a total product schedule.

F SR A[G F WA W FNE F YA Sawe HoF GHART |
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12. The ratio of elasticity of supply of commodities A and B is 1 : 1-5.
20 percent fall in price of A results in a 40 percent fall in its supply.
Calculate the percentage increase in supply of B if its price rises from

Rs. 10 per unit to Rs. 11 per unit. 4

ASR Bawgel & O A A & qUT 1: 158 | AT Fwa 20 vavd
Ted ¥ 3 qfq 40 yavd wedt @ | I B # FHa 10 & 3G HE F deR
11 % 5 3HE Bl @ o SEH qfd A @9 Gl Wavd gts &1 uRee Hifg |

13. Explain “large number of buyers and sellers” feature of perfect

competition. 4
Explain “freedom of entry and exit to firms” feature of perfect
competition. . : : 4
ool wfeefrer @ ‘oSt den § shar ok faskar’ feRivar wHEmET |

gdr

ol sfeelifirer & “FA H AR IR e Eda R wEny |
14. Giving reasons, state whether the following statements are frue or
false : 6

1) A producer is in equilibrium when total cost and total revenue
are equal.

(ii) The difference between average total cost and average variable
cost decreases with decrease in the level of output.

(iii) When marginal cost rises, aVerage cost will also rise.
FRUT 24 gL SORC R frefafed 99 @ € @ T

() 9 T A SR F@ WG aER B § A Iees W & fafd # g
2|

(ii) WWW@WWkWWWWWWHWW
21

(i) -9 S A Fedt 8, O oiag @ne o S |
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15.

16.

17.
18.
19.

20.

21.

Explain three causes of a shift in demand curve of a commodity.
OR

Explain the difference between ‘decrease in demand’, and ‘decrease in
quantity demanded’ with the help of a demand schedule. Give two
causes of a decrease in demand.

TF a%g % AT 9% & f@ESA & UH HRON & AR HWT |

Jgar
LT ) S o e o A = A e e ) | = A = L
THRT | §T A W & o HROT FaRd |

Define equilibrium price. How is it determined ? Explain with the help
of a schedule.

WWﬁMWl%%&WﬁH@W%7@WﬁW.
¥ UERT |

SECTION B
@ue

Can the value of average propensity to save be negative ? If yes, when ?

1 ied F9d g F qod FHOTTE @ §Har ¢ 2 A ®, o F9 7
Why is income tax a direct tax ?
AT F Y R Far g 2

What is the relationship between marginal propensity to save and
multiplier ?

S w3 T ¥ w g g 8 2
Give the meaning of deflationary gap.
IaTifas FUA HFd TART |

Give the meaning of demand deposits of commercial banks.

Fforfsaes dbl AT e @ g "agy |
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22, Calculate net value added at factor cost from the following data : 3

(Rs. is crores)

(i) Purchase of machinery to be used in the production unit 100
(ii) Sales ' 200
(iii)) Intermediate costs : 90
(iv) Indirect taxes 12,
(v) Change in stock 10
(vi) Excise duty 6
(vii) Stock of raw material 5

frfafad siagl § a7 ard W fad affq 900 &1 Read i

(7. I H)
() 3IRA @R W % f9T S T e 100
(i)  fohl e 200
(iii) ~ HeFedl TG _ 90
(iv) T e
(v) ®i&e ¥ 9figdq : 10
(vi) SEEA | 6
(vil) F A F ©E 5
23. Explain any two functions of a commercial bank. 3
OR
Explain any two functions of a central bank. 3
s aiftfsrs 9% & fFd &t d Fren iy |
Agar

THh H09 o & fhdl o A H AR HC |
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24. Complete the following table :

Income Consumption | Marginal Propensity | Average Propensity
to Save to Consume
0 12
20 26 AN LR
40 40 e S
60 54 i i
Frefefad Ao & 0 A
A SERIn gmia s=a ygfa ST ITHT g
0 12
20 26 ng 0 i
40 40 B Bl
60 54 = i

25. List the types of transactions that are recorded in the current account

of balance of payments account.

TAE Hqed @i &

TIRT |

o] @ H fered R 9W oA Wi & OYER @ g

26. How can a government budget help in reallocation of resources in an

economy ? Explain.

= oy ¥ GEEAl @ G oEed W f WEd ave 38 WRE @
5 2 7 WHERY |

27. Explain two merits and two demerits of fixed foreign exchange rate.

fer foes fafg X & Q@ i R § sl H AR Ff |
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28. Explain the basis of classifying government receipts into revenue

receipts and capital receipts. Give two examples of each. 4
OR
Explain the meaning and implications' of fiscal deficit. 4

TIEEE " ¥ e 3R g9E F e Fie | -

29. State any two problems of barter system of exchange. How does money

solve them ? ; 4

T fafea yomeh #t FE § TN FART | R HE 9EEE hY Fd g 2

30. While calculating national income of India from its domestic factor
income, how will you treat the following ? Give reasons for your
answer. : 6

(1) Salaries received by Indians working in branches of foreign banks

in India.
(ii)  Profits earned by an Indian bank from its branches abroad.

(iii) Rent paid by embassy of Japan in India to an Indian resident.

IR &1 <YTE SRS 3F ¥ UHE AT F uided FX §9F AN FrfafEd & 99
T AR FA 7 A IW F fAu FROT |

() fouuh 9= & 9ra ¥ wmel # e aRdEl w9 |

(ii) @W%ﬁaﬁﬁ%ﬁwﬁ@aﬁmm:

(i) 9Rd ¥ S99 & AEM 50 TF IR fas & fear e
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31. C =100 +0-75 Y is a consumption function (where C = consumption
expenditure and Y = national income) and investment expenditure is
800. On the basis of this information calculate :

(i) equilibrium level of national income

(ii) savings at equilibrium level of national income
OR

In an economy, aggregate demand is less than aggregate supply. Is
the economy in equilibrium ? If not, explain the changes that will
bring the economy in equilibrium.

C =100 + 0-75 Y U& 30N Geid 2 (& C = ST =99 a1 Y = UPF 31)
3R Y =9 800 8 | 39 Yo & IER frefafed & ieew i

@) T e W g w)
(i) TP T & Hfad ®R W F9d
argan
TF HfgaR H Wy 6 g Ufd ¥ oW g | orderawyn §qed & feafq A
g 2 3fe 78, 39 wedAl @ AR HSC S o3W dged @ Rafd § and |

32. From the following data, calculate “national income” by (i) income
method and (ii) expenditure method.
(Rs. in crores)

(i)  Net domestic capital formation ' 360

(i)  Interest 200
(iii) Rent 300
(iv)  Private final consumption expenditure 1300
(v)  Government final consumption expenditure 730
(vi)© Net exports : _ (=) 20
(vii) Net indirect taxes .~ 70
(viii) Net current transfers from rest of the world 80
(ix) Consumption of fixed capital 60
(x) Net factor income from abroad (=) 50
(xi) Profits e 600
(xii) Compensation of employees ‘ 1200
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Frfefaa siesi @ () o fafy, s (i) =@ BT g0 Co@e ST @ afeer
AT

(%. F0E H)
(i) fraa wfE O Ao 360
(i) - == 200
Gii) fTar 300
(v) fre eifm 3o =59 - 1300
(v) SR f<w 39am =39 730
(vi) froer frafa ()20
(vii) frae sy 70
(vii)) ¥ fava & frae Ysiiar g 80
(ix) fer gsft & ST 60
x) foult & faa FRe oM | (-) 50
(xi) @™ 600
(xii) SHHGMET F TRATR 1200
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